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B RRRIR I EAE R 1990 | 1991 | 1992 | 1993 | 1994 | 1995
JEREREE 15 16 17 19 20 22 22
T - 838 KEEREERPT 15 16 17 19 20 22 22
(A{LEMA) 6 7 7 8 11 12 13
EEEBFT 0 0 0 0
Hith 0 0
= R EEHERUE AR Y E AR R
FEeERHE 22 24 25 28 41 43 50
T% - 8%t REcIRERr 22 24 25 28 41 43 50
(BEERA) 14 13 13 15 32 32 36
Eamshr 0 0 0 0
Hith
B E REEHERURFAR U EE SR B
JFEERHE 51 50 51 63 61 64 68
T2 - B8 KEREEFT 51 50 51 63 61 64 68
(BfEEMA) 39 38 39 49 50 53 56
EdaEBrT 0
Hith
= REEHERUR AR U EE R Bl
JFEERHE 59 63 66 67
T2 - B8 KEREFT 59 63 66 67
(B{LEMA) 48 52 56 57
EEEBFT

Hith






